Practice Quiz 6
A researcher randomly divided a large group of second graders into two groups. Teacher Jones taught one group to read using Reading Method A. Teacher Smith taught the other group to read using Method B. t the end of the year, the students were given a Reading Comprehension Test.
1. The independent variable in the above study is Reading Method used to teach the children.
2. The dependent Variable is Reading Comprehension Test score.
3. A confounding variable is that two different teachers were used.
4. According to Evolutionary Psychology, we are all born good and with a certain amount of inner control.
5. A problem with observational studies is social desirability response set.
